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6017110011 u d 150 000 1 150,0
i Jupawlwinueniu’ Jupnph htn Shwuht " i e
60231200/1 Spwuuwnpunwiht thnfuwnpdwu dwnwjniejntutbip uu npwd 990 000 1 990,0
6352120011 Panubiph thnfuwnpdwu dwnwjnipjniuutp uu npwd 350 000 1 350,0
63521200/2 Pbnubiph tinfjuwnpiwu dwnwjnipiniutbtip uu npwy 50 000 1 50,0
Lwnwpwlwunipjwu b hnnh ubthwlwunyejwu
71621100 uu wy 6 600 000 1 6 600,0
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77111300/1 R Yy OO uu npwd | 180 000 1 180,0
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771113002 et s oA e coiaein uu npwd | 125000 1 125,0
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79541100/1 Pwuwynp pwpquiwunipjwl dwnwjnipjniuubip uu npwy 35000 1 35,0
79541100/2 Pwuwynp pwpgdwunipjwu dwnwjnipjniutibip uu npwd 240 000 1 240,0
79541100/3 Pwuwynp pwpgiwunypjwu dwnwjnipjniutbip uu npwd 70 000 1 70,0
80541100/1 Nwnigdwl Swnwynigniuubin puwwwhwwunipjwu ac el 7280 000 1 7 280,0
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90711160/1 Puwwwhwwiwlwl wjwuwynpnud PU npwd 1
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003111160/1 Pwugwpbinbuwhu utipdbip uu npwd 982 000 1 982,0
09132400/1 pbughu ntigniywp q< {hwp 530 2000 1060,0
16641100/1 Ubmibogbuimtiipng Shigagtipading Uuibpmiion] - oo apwd | 12000000 | 1 12 000,0
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30125100 Snubtipwjhu pwpwphgubip uu hwwn 25000 4 100,0
30195930 gpwwnwfunwy uu hwwn 31000 3 93,0
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45111470/1 (wunawhnwh wotuwwnwupubp wighutiph hwdwp < npwd | 10 000 000 1 10 000,0
45111310 Znnwpwpbjwydwu woluwwnwupubp L npwy 39 691 000 1 39 691,0
45111310/1 <nnwpwpbjwydwy wofuwwnwupubip 9L npwd 21 220 000 1 21 220,0
45111310/2 <nnwpwpbjwydwy wofuwnwupubip < npwd 29 800 000 1 29 800,0
45111310/3 Znnwpwpbjwyiwu woluwwnwupubp < npwd 21790 000 1 21790,0




